
FURY
Multipurpose Circular Saw



REV.
1.01

EVOLUTION POWER TOOLS Ltd
Venture one, Longacre Close, Holbrook Industrial Estate, Sheffield, S20 3FR, UK

Tel: +44 (0) 870 609 2297     Fax: +44 (0) 114 247 3339      www.evolutionpowertools.com

ITEM	 DESCRIPTION	 PART NO.	 QTY	 LIST €		

1	 Self tapping screw ST4*16	 EV1BS1	 6	 0.69	
2	 Left handle	 EV1BS2	 1	 11.36	
3	 Self tapping screw ST4*25	 EV1BS3	 2 	 0.69	
4	 Switch	 EV1BS4	 1	 6.73	
5	 Capacitor 0.22uf	 EV1BS5	 1	 0.83	
6	 Power cord clamp	 EV1BS6	 1	 0.51	
7A	 Power cord 230v UK	 EV1BS7A	 1	 9.78	
7B	 Power cord 230v euro	 EV1BS7B	 1	 9.78	
8	 Power cord protector	 EV1BS8	 1	 0.80	
9	 Right handle	 EV1BS9	 1	 11.36	
10	 Back cover	 EV1BS10	 1	 3.79	
11	 Motor housing	 EV1BS11	 1	 15.98	
12A	 Field coil 230v	 EV1BS12A	 1	 36.54	
13	 Self tapping screw ST4*72	 EV1BS13	 2	 0.69	
14	 Air baffle	 EV1BS14	 1	 1.16	
15	 Bearing 608	 EV1BS15	 1	 1.89	
18	 Carbon brush unit (pr)	 EV1BS18	 1	 17.46	
19A	 Armature 230v	 EV1BS19A	 1	 50.93	
20	 Bearing 6000	 EV1BS20	 1	 2.52	
21	 Self tapping screw ST5*15	 EV1BS21	 1	 0.69	
22	 Side handle	 EV1BS22	 1	 16.72	
23	 Cross screw M4*8	 EV1BS23	 2	 0.51	
24	 Plug	 EV1BS24	 1	 1.05	
25	 Window	 EV1BS25	 1	 0.83	
26	 7mm circlip	 EV1BS26	 1	 0.51	
27	 Gearbox housing	 EV1BS27	 1	 29.55	
28	 Pivot pin	 EV1BS28	 1	 0.69	
29	 Depth locking screw	 EV1BS29	 1	 0.95	
30	 Round pin 4*20	 EV1BS30	 1	 0.51	
31	 Spindle lock shaft	 EV1BS31	 1	 1.16	
32	 Spindle lock spring	 EV1BS32	 1	 0.51	
33	 Self tapping screw ST4*30	 EV1BS33	 4	 0.69	
34	 Screw M6*22	 EV1BS34	 2	 0.69	
35	 Moving guard spring	 EV1BS35	 1	 0.69	
36	 Spring retainer	 EV1BS36	 1	 0.69	
37	 Cross screw M3*6	 EV1BS37	 1	 0.69	
38	 Guard stop	 EV1BS38	 1	 0.69	
39	 Cross screw M6*14	 EV1BS39	 1	 0.69	
40	 needle bearing	 EV1BS40	 1	 1.05	
41	 16mm circlip	 EV1BS41	 1	 0.51	
42	 Gear	 EV1BS42	 1	 11.78	
43	 Flat key 5*12	 EV1BS43	 1	 0.51	
44	 Bearing	 EV1BS44	 1	 8.41	
45	 35mm circlip	 EV1BS45	 1	 0.69	
46	 Bearing 6202	 EV1BS46	 1	 4.00	
47	 Bearing retainer	 EV1BS47	 1	 2.21	
48	 5mm washer	 EV1BS48	 4	 1.05	
49	 Cross screw M5*12	 EV1BS49	 4	 0.69	
50	 Moving guard bush	 EV1BS50	 1	 0.80	
51	 Cross screw M4*6	 EV1BS51	 1	 0.69	
52	 Moving guard	 EV1BS52	 1	 10.72	
53	 Guard lever	 EV1BS53	 1	 0.83	
54	 Cross screw M4*6	 EV1BS54	 2	 0.69	
55	 40mm circlip	 EV1BS55	 1	 0.80	
56	 Inner flange	 EV1BS56	 1	 2.42	
58	 Outer flange	 EV1BS58	 1	 1.26	
59	 Clamp washer	 EV1BS59	 1	 0.69	
60	 Hex screw M8*16	 EV1BS60	 1	 0.80	
61	 Blade guard	 EV1BS61	 1	 13.46	
62	 4mm washer	 EV1BS62	 2	 0.80	
63	 Cross screw M4*12	 EV1BS63	 5	 0.69	
67	 Parallel fence fixing screw	 EV1BS67	 1	 0.69	
68	 Washer	 EV1BS68	 2	 0.80	
69	 Bevel adjustment knob	 EV1BS69	 1	 0.83	
72	 Base plate assembly	 EV1BS72	 1	 28.18	
73	 Side fence	 EV1BS73	 1	 2.10	
74	 Allen key	 EV1BS74	 1	 2.10

ITEM	 DESCRIPTION	 PART NO.	 QTY	 LIST €	

75	 Color box	 EV1BS75	 1	 10.51	
76	 Self tapping screw ST4*14	 EV1BS76	 2	 0.69	

FURY
Multipurpose Circular Saw


